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� ������ ���������� ������ �!�" ������# �� P = P (x) �#� $% ���� �� �� �� ��#��� x
� ����!%&'�(  #! $#)
 ������!� �! �� �( *#�#�����!����( ����������  �( !�!��+
� ,���)
������ �!�" ������# �� +�- � �
�#)��" !��(!��# $�)�.�!��* ����.� � )#��!�'�* �� ����/
��0�� 1��"2�* ��#!������  #���+��� !�� �#  %&  #+#0 �.�  �!�" M(x) ��� �����3�+�!�"
σ(x) 4�5�

61'���� ���� !��(�� 0���� ���!# �� ����3� �� P (x) � σ(x) ��� ��+�'� �����.�!��*
� 3��!�� β � t 7 P (x) ∝ |x − xc|β � σ(x) ∝ |x − xc|t ���+� �+� �1��)� �����.�!��( �� �� /
��#��� xc � 3�� !�!��+
 1�!�� �. 
* �#)+���� 4�� �� �5�

�)��!� �� .�� .�!��  �� +�3������# �� $�)�.�!��* �����!!�� +�- � �!%'�!�����"  #
��28���#* 1��"2�*�  � �� �. 
* �#)+���� ���3% �0�# �.�  
* ��)+�- �!��( �&1�0� ��+�"&/
���#� �  #!���'�� ���+� ��. �� �
�#-� �� 3�� P = P (x, L) �#� $% ���� �� �� �� ��#��� x
� �#)+��# ��28���� L  ��)��!� 
 3�� ���!��# !�� �#)+�� �!�� d > 1 � ��� ������ � ��#�����
� ����! ���3!�#����� ���!�#� �%1�.�!�#� 93#��� :�; ��28���# �#)+��# L > 2 � )#3#.� %)����

� < � 3#  �( �#1��
  # �! ��� %���'#&'�* 3��%'� �( ���3� # $% ���� P (x, L) 3��
�� �. 
* ��28���� � � 2�����+ 3�#�#)� � 0 < x < 1, .�� ������!" �! �� �( ���"& 3#  �(
�#1��
� =�# ���" 3�!��0#�#!"  # �! ��� ��)%�"�#�# �) 4�5 3�� $% ���� P (x) :� ��28����
�#)+��# L = 2 � ���1��-� �� 4>5 � �� �( �( !��)� ����0# ������# �� 1�!�� �. �( ��28����
xc !� !��3 �+ ) #.� ��+ xcL �� �. �( ��28���� � ��8�*+�� �+ !�%.#��

� < � ���3!�#��� # �
.�!�����" #� !*�+# ��+�"&��� �0� ?�!����+� �# �� ����3��� �&
����.� �  ��1*�3�+
* 3�� )#3# �� $% ���� P (x, L).

��� ��#���!�� $% ���&� *#�#�����)%&'%& �#���/��1� ��������	�

�� ���
���� 9����/
�� �!�" ������# �� P (x, L) � ��+ .�!��; ��
��
�
 �������	 � �	����� 	
������� ��
�

��
����		 x � ����!%&'�(  #! $#)
� +
 �����
� 
�����	 
����
�	
����
 ��
��	�
� 	�	


����
�	
���� � �#.�!���  �!��(�� 0# +�- � �#!!+#����#�" !��3 �( �#)+�� �� �. �0� ��#/
!���# 9!��(�� 0���� ���!# �� ������0� �1'���� ��� )#��!
�#�" .���) �����.�!��( � 3��! γ 7
S(x) ∝ |x−xc|−γ ;� # �#�-� 3�%0�� �#- 
� *#�#�����!���� ����������  �( !�!��+
� �����
�
�1��)� �����.�!��( ��.�� xc ���!
�#&�!� ���#)#���" �( $% ����( ! �#)��. 
+� �����.�/
!��+� � 3��!#+��
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! "# ��$%�&' �()�*+ ,)��'- ��.)+/�)$/ 0.)/�%*� + �� .�1��/% 

������ �!� 
� !��(!��# 3�%*$#) �( !�!��+
 1%3�+ ���%.#�" � )#3#.� %)���� ��� ?��0�
�#!!+����+ !�#��!��.�!��( # !#+1�"� �1�#)��#  
( 1��"2�+ 9� ���3��� 1�!�� �. � 1��"2�+;
.�!��+ N 3�%*$#) 
* !�!��+� �#-3#� 3�%*$#) #� !�!��+# �#)+��# L !�#��!��.�!��0� # /
!#+1�� !�!���� �) �����3�'�( �  ������3�'�( $#)� �#!���3���  
* !�%.#( �  # L3 %)�#*
:� ��28����� # x C ?�� 3��� %)��� � ����!%&'�(  #! $#)
�

������ �!�" ������# �� P (x, L) !�%.#( � �
1�#  �0� %)�# ��28���� �#)+��# L ����3�/
����!� �#� P (x, L) = xY (x, L), 03� Y (x, L) C %!��� #� ������ �!�" ��0�� .�� �
1�#  
( !
������ �!�"& x %)��� � ����!%&'�(  #! $#)
 ��� #3��-�� !��3� �&'�+% ��#!���% 9DEFGGHGI
JKLDMNO;� P% ���� Y (x, L) ���3� # � 4�5 �#�

Y (x, L) =
1

1 + exp[−S(x, L)]
, S(x, L) =

N∑
n=1

an(xn − xn
cL), 9���;

3�� )#3# �� ������(� # ) #.�� � 3�� )#3# �� P (x, L) �  ��1*�3�+� ) #�" ��?$$���� �
 !��/
��  �0� ��3# an � xcL, )3�!" N = K − 1, K C .�!��  ������#�" 
* ��.�� Yi(xi), xcL

!������!��%�� %!����& Y (xcL, L) = 1/2.
��� ��28���� J L > 2 # #����.�!��� ����3��� �� an ���1��+#��. �� �3 #�� 3�� ?��+� /

�#� �0� �%1��# :� ��28���� 9L = 2 � K = 3 ; ����3��� 
 ��. 
� ) #.� �� xcL � 3�%*
��?$$���� ��� a1 � a2 4�57

xc2 = 0,3989085; a1 = 8 ln(9/2) � a2 = 0. 9���;

Q3�!" �  �-� .�!��  
� ) #.� �� ����.� �����3��!� ! ��. �!�"&� !���#3#&'�( ! ��. �!�"&
���3!�#���  �( � �����#�%�� 9 #���+��� � 4�� R5; ) #.� ��+ ����0# ������# �� :� ��28�����

A#�� !���  %�& a2 9��� a1 �= 0 ; 3�� L = 2 �����!" �! ���( 3�� �#- �0� � 3#�" �(2�+
+�3����%&'�0� 3��%'� ��7 3�� :� ��28���� �#)+���+ L > 2 ��?$$���� �
 ��3# an � 9���;
�#� 
  %�&�  #.� #� ! n = 2 �

an = 0, ��� n > 1, 9���;

�� �!�" xcL ������!� ��.��( ����0�1# $% ���� Y (x, L) 3�� ��28���� �!�* �#)+����� �#� �#�
�� ����#� ����)��3 #� � ��.�� xcL ��� %!����� 9���; �#� #  %�&7

Y ′′
xx(xcL) =

1
4

N∑
n=1

n(n − 1)anxn−2
cL = 0, 9���;

��� ?��+ a1 �= 0  �  #�%2#�� %!����� 9���;�
S����" 3�� )#3# �� $% ���� Y (x, L), # ) #.�� � 3�� P (x, L) �  ��1*�3�+� ) #�" ���"��

$% ���� a1 = a1(L) � xcL = xcL(L) � �� �!�" S(x, L) � 9���; ����1���#�� ���!��( ��3

S(x, L) = a1(L)(x − xcL). 9���;

� 4�5 ��)%�"�#� 9���; �!���")��# 3�� �
.�!�� �� ����0# ������# �� 1�!�� �. �( �%1�.�/
!��( ��28���� xc �) %�#� � ��

1
2

+
a1(2)(xc − xc2)

4
=

xc

1 + xc
, 9��>;

������� ��0�� ����1�#)%��!� � ��3% xc2 = xc + const
a1(2) ��� $��+#�" � 3�� ��28���� �#)+��# L 7

xcL = xc +
C

a1(L)
, 9��R;

03� C C �� !�# �#�
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:��#-�+� .�� xcL ������!� 93���� ����" � � !�#)#  �+% �
2�; !��3 �+ ) #.� ��+ !�%/
.#( �( ����.� 
 x, $% ���� �#!���3��� �� ������( )#3# # �#� Y (x, L). �)��!� �� .�� !��3/
 �� ) #.� �� Mx 9+#��+#��.�!��� �-�3# ��; !�%.#( �( ����.� 
 x, $% ���� �#!���3��� ��
������( �!�" Y (x, L) � ����3�����!� �#� 4T57

Mx =
∫ ∞

0
[1 − Y (x, L)]dx, 9��T;

�� �!�" Mx 0��+����.�!�� +�-�� 1
�" ���3!�#��� � ���'#3"&  #3 �����( Y (x, L) 9��!� �;�
� ��0���%� 9��T; � %�#)#  
* ���3��#*� ! %.���+ !��)�

X(x, L) = 1 − Y (x, L), 9��
;

03� X(x, L) ������!� %!��� �( ������ �!�"& ��0�� .�� �
1�#  
( ! ������ �!�"& x %)��
� ����!%&'�(  #! $#)
� ��� #3��-�� �� �. �+% ��#!���% 9JKUDNV JKLDMNOD;� ���%.�+

Mx =
∫ ∞

0
X(x, L)dx =

1
a1(L)

ln [1 + exp(a1(L)xcL)] . 9���	;

6�� �# 3�� ?��+� �#� �0� �%1��# :� ��28���� ��� ) #.� ��* �) 9���; ���#)
�#��� .�� � 9���	;
exp[a1(2)xcL] � 1 9 �-� 1%3�� ���#)# �� .�� a1(L) = a1(2)L/2, ��?��+% 3�� ��28���� ! L > 2
��+ 1���� exp[a1(L)xcL] � 1 ;� ��03# � ��)%�"�#�� � ��0�����# �� 9���	; ���%.#�+ Mx = xcL,
�� �!�" ! 1��"2�( ��. �!�"& xcL ������!� !��3 �+ ) #.� ��+ x, $% ���� �#!���3��� ��
������( ������!� Y (x, L).

���� �� ������� ������	� 
����
��
 ���	�	�� Mx �
�� ������� ������	������� ��� ��	��
 Y (x,L)
	 ����� xcL

� ��0�#� � 9���	; +�- � ���3!�#���" �#� !%++% 3�%* � ��0�#���7

Mx =
∫ ∞

0
X(x, L)dx =

∫ 1

0
X(x, L)dx +

∫ ∞

1
X(x, L)dx =

∫ 1

0
X(x, L)dx,

��03#

I =
∫ 1

0
X(x, L)dx = xcL, 9����;

�#� �#� X(x, L) = 0 ��� x � 1.
� 4>5 3�� ����3��� �� ����0# ������# �� 1�!�� �. �( ��28���� xc .���) !��3 �� ) #.� ��

xcL �� �. �( ��28���� ���3��-� # ���!�#� !��)" 3�� ���*+�� 
* ��28����7

xcL = xc +
A

L
, 9����;

03� A C �� !�# �#�
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@�#� ��#� 9��R; � 9����;� +�- � %��3��"� .�� a1 3�� ��28���� �#)+��# L 1%3�� �� �( �(
$% ����( �� L, ��03# a1(L) � xcL +�- � ����3����" # #����.�!�� �#�

a1(L) =
a1(2)L

2
9����;

�

xcL =
2xc2 + xc(L − 2)

L
, 9����;

#  �!��(�� 0��
� $% ���� Y (x, L) � P (x, L) ����1���#&� ��� .#���" 
( ��3 3�� :�
��28����7

Y (x, L) =
1

1 + exp[−a1(L)(x − xcL)]
� P (x, L) =

x

1 + exp[−a1(L)(x − xcL)]
, 9����;

03� a1(L = 2) = 8 ln(9/2), xc2 = 0,3989085, xc = 0,3116865 ����3��� 
 � 4�5�

:�!��3 �� 3�# ) #.� �� ��)����&� ��0�� �
.�!���" �� !�# �% A � 9����; ��� L = 2 7 A =
0,1744440. :�?��+% !��3%�� �-�3#�"� .��  # ����0� ������# �� ) #.� �� $% ���( Y (xc, L) =
1/{1 + exp[a1(2)A/2]} = Yc � P (xc, L) = xcYc  � )#��!�� �� �#)+��# :� ��28����� ��%0�+�
!���#+� 0�#$��� 9 # ��!� � !���2 
� ����
�; $% ���( Y (x, L) 3��- 
 ����!��#�"!� � �3 �(
��.�� ! ����3� #�#+� xc = 0,3116865 � Yc = 0,2593194, # 0�#$��� 9 # ��!� � !���2 
� ����
�;
$% ���( P (x, L) � ��.�� ! ����3� #�#+� xc = 0,3116865 � Pc = 0,0808264.

���� �� ��
���	���������� ����	 �� ������	 ��	 L = 30 �  ! 	 "!! �����	��
�	 ��#�� �� ������	��
�	�
��	��� Y (x,L) $ ������� �
�������� ����
���%�
& � ��	�	��
��
 ����� xc ' (���	������& �	�	& ��	
xc = 0,3116865 ������� ������ 
������
����� ������&)	������ �������� ��& *�
�������
 ������	 +

���������
 ,���)		 �
�����
 ����&���
�	 ��������	& Y (x,L → ∞) ' -� ����.� ��������	& ,���)		 Y (x,L)
��	������ 	 ����� Y (xc, L) = Yc = 0,2593194 �����	
	�� �� ������� ������	 L �.��	���������& ���	����&

�	�	&�

=�� !��(!��� �� �. 
* :� ��28���� +�- � �!���")��#�" 3�� ���3� �� �� ���� �����/
.�!��( ��.�� xc 9����0 ������# ��; 3�� 1�!�� �. �( :� ��28���� �#� ��.��� 03� ) #.� ��
 �!��(�� 0��
* $% ���( �� 9����; �3� #���
 3�� �!�* �� �. 
* ��28����� ��%0�+� !���#/
+��  �!��(�� 0 �� �. �( ��28���� �����#'#��!� � !��(�� 0 9W)#�� ��3�1��X; � �3� !���  �(
��.���  #)
�#�+�( �����.�!��(� S#��( ��)%�"�#� ��3����-3#�� 0�����)% ��3�1�� �#3# ��#Y
���"!� # 4
� �	5� �����#� ���+� ����" � � ����������  �( !�!��+� 3#��  #+ !#+���3�1��
1�!�� �. �0� 9!��3� �&'�0�; ��#!���#�
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! 2# �),0-3/�.�4& 5%$0�. ,��/

��+�"&��� 
� �!�
�# �� �����3���!" � ����* �������� �)��-�  �( � < � �������.�!��(
+�3����

:��%.�+ �
�#-� ��� �� �����
+ +�- � ����3����" $% ���� a1 = a1(L) � xcL = xcL(L)
�) ��+�"&��� �0� ?�!����+� �#� ��� ?��0� �!���")%�+ ��)%�"�#�
 � ��0�����# �� $% ���(
Y (x, L) � X(x, L) � � ����!%&'�*  #! ���3��#*� S#�� !�0�#! � 9����;�

I1 =
∫ 1

0
Y (x, L)dx = 1 − xcL, 9���;

# �#�-�

I2 =
∫ xcL

0
Y (x, L)dx =

ln 2
a1(L)

, 9���;

I3 =
∫ 1

xcL

Y (x, L)dx = 1 − xcL − ln 2
a1(L)

, 9���;

S3 =
∫ 1

xcL

X(x, L)dx =
ln 2

a1(L)
. 9���;

:�� � ��0�����# �� ���#0#��!"� .�� 3�� L > 2

exp[−a1(L)(1 − xcL)] � 1 � exp[a1(L)xcL] � 1, 9���;

�#� �#�� !�0�#! � 9����;� a1(L) ≈ 6L � 1.
� ��0�#�
 I1, I2 � I3 �
�#-#&� ���'#3� ��3 �����( Y (x, L) ��� !������!��%&'�* ���/

3��#*� # � ��0�#� S3 C ���'#3" ��3 �����( X(x, L) ��� ���'#3"  #3 �����( Y (x). :�?��+%�
)#+� �� � ��0�#� I1 �� 9���; �� �. �( !%++�(� ! 1��"2�( ��. �!�"& +�- � ����3����" xcL

3�� ��28���� �#)+��# L �� ?�!����+� �#�" 
+ ��.�#+ xi, Yi(xi) 7

xcL = 1 − 1
2

k∑
i=1

(xi+1 − xi)(Yi+1 + Yi), 9��>;

03� k +�-�� ��� �+#�" +#�!�+#�" �� ) #.� �� kmax = 1/hmin, �!�� hmin = 1/L3 C +� �/
+#�" � ��)+�- 
( 2#0 �� x.

�#-3�� ?�!����+� �#�" �� ) #.� �� Yi(xi) ����3�����!" �) ��+�"&��� 
* �!�
�# �( +�/
��3�+ �� ��/�#���7

Yi(xi) =
Nx

N
, 9��R;

03� N C �1'�� .�!�� 3�%*$#) 
* !�!��+ 9!0� ������#  
* � �����!!� ��+�"&��� �0� ?�!��/
��+� �#; � !�#��!��.�!��+ # !#+1��� Nx C .�!�� !�!��+ � # !#+1��� � �����
* �1�#)��#�!�
!��3� �&'�( 91�!�� �. 
(; ��#!��� ��� 3#  �+ ) #.� �� x � �#)+��� :� ��28���� L.

�#��+ �+� .�� �#-3#� 3�%*$#) #� !�!��+# !�#��!��.�!��0� # !#+1�� !�!���� �) �����3�/
'�( �  ������3�'�( $#)� �#!���3���  
* !�%.#( �  # L3 %)�#* :� ��28����� # x C ?�� 3���
%)��� � ����!%&'�(  #! $#)
�

��� ?�!����+� �#�" �0� ����3��� �� a1(L) )#+� �+ !%++% � ��0�#��� I2 � S3 �� �. �(
!%++�( I2 + S3 = S � ��3�

S =
1
2

⎧⎨
⎩

m∑
i=1

[(xi+1 − xi)(Yi+1 + Yi)] +
n∑

j=1

[(xj+1 − xj)(Xj+1 + Xj)]

⎫⎬
⎭ , 9��T;

03� m = xcL/hm � n = (1 − xcL)/hn, hm C 2#0 �� x � � ����#�� �� 	 3� xcL, # Xj+1 � Xj

����3���&�!� �) !��)� 9��
; � � ����#�� �� xcL 3� � ! 2#0�+ hn.
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61�#!�" )#+�� �0� �)+� � ��  �!��(�� 0���( $% ���� Y (x, L) 1%3�+ *#�#�����)��#�"
2��� �( ����*�3# Δx = 4/a1(L), ��03# 3�� 3�!��-� ��  #�1��"2�( ��. �!�� ��+�"&��� 
*
?�!����+� ���  ��1*�3�+�� .��1
 � �1�#!�� Δx 2#0� hm � hn 1
�� +� �+#�" 
+�7 hmin =
1/L3.

6���3���� !%++% S �) 9���; � 9���;�  #*�3�+ ?�!����+� �#�" �� ) #.� �� a1(L) 7

a1(L) =
2 ln 2

S
, 9��
;

03� S ����3�����!� �� 9��T;�
� ��+�"&��� 
* ?�!����+� �#* .�!�� !�!��+ � !�#��!��.�!��+ # !#+1�� )#3#�#��!" �� 104

3� 106 � )#��!�+�!�� �� �#)+��# ��28���� L, �����
( ��� �+#� ) #.� �� �� � 3� �		� # �
.�!/
�� �� �
��� ���!"  # �
.�!�����" �+ ��#!���� � Z[\/!�!��+#* ! ���+� � ��+ � ���$�(!#
[\]�

! 6# �7$89��� � .�:8'-/*/)�

6! �� 
� ��)%�"�#�
 �#1��
 ���3!�#��� 
 0�#$�.�!��  # ��!� �Y��
�# ��!� � � � ���#)# �� .�� �������.�!��� 9!���2 
� ����
�; � ?�!����+� �#�" 
�  �!��(/

�� 0��
� $% ���� Y (x, L) � P (x, L) ��#���.�!�� !���#3#&�� � �#.�!��� +��
  �!���#3� ��
9�2�1��; ?�!����+� �#�" �0�  �!��(�� 0# Y (x, L) � ���3��-�  �0� � < � �������.�!��0� ��
9����; �!���")��# � !�# 3#�� �� ����� � �� σY L =

√
DY L, 03� DY L = (ΔYL)2 �!�" 3�!���/

!��� �
.�!��  #� 3��  ������#�" 
* ��.�� !�%.#( �( 9?�!����+� �#�" �(; $% ���� Y (x, L).
S#� 3�� L = 30, �	 � �		 ���%.� 
 !������!��%&'�� ) #.� �� !�# 3#�� 
* ����� � �(
σY 30 = 0,025; σY 50 = 0,019; σY 100 = 0,014. �# �! ��� 3#-� �#��( W��!!�+�!��. �(X 9)#�
2� /
 �(; ��� �� !�# 3#�� 
* ����� � �( +�- � !�#)#�"� .�� ������ � ?�!����+� � !�0�#!%&�!�
3�%0 ! 3�%0�+�

���� �� ( ����
���
�	 xc ��
��
�	�.���� ����&���
�	 ��������	& �� ������	 P (x,L) ��& L = 30 �  !
	 "!! �
������� ��	���� ����� �����
��%� 	 ����
���%�
& � ��	�	��
��
 ����� xc ' (��� xc 	 ����� ��	

x → 1 ����&���
�	 ��������	& P (x,L) �����
��%� �����	��
�	 �	��
�� �����	
	�� �� ������� ������� L '
-� ����.� ��������	& ,���)		 P (x,L) ��	������ 	 ����� P (xc, L) = Pc = 0,0808264 �����	
	�� �� �������
������	 L �.��	���������& ���	����& �	�	&�' ���������
 ,���)		 ����&���
�	 ��������	& P (x,L → ∞ �


������
����� ����	������& �	�	& ��	 xc = 0,3116865 $ �������&��& � �
������% ��������%� ��&��%
P (x) = x ��	 x > xc

S#��� -� !�0�#!�� ������ �� $��+%�#+ 9����; � 9����; � ��+�"&��� �0� ?�!����+� �# ��
�
.�!�� �& !��3 �0� ) #.� �� xcL � ��?$$���� ��� a1(L) ��3 � !������!���  �  # ��!� �
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� �
�� �

� ��  # �����
* �� �( #� )#��!�+�!�" 9� �����+ !�%.#� �� �1�#� �0� �#)+��# ��28����� # ��
�����+ !�%.#� �� �#)+��# ��28����; ��3����-3#��!��

���� �� /	��
��& ���	
	��
�� �
������& ��&��&� xcL �� �*�����.� ������� ������	 �� ,������ �"'"0�
	 ���������� � �����%������ 1�
���	������ ������	& xcL ��& �� ������� ��������	 L = 25 � 30 � 40 �

50 � 80 	 100 ������� ������

���� 	� /	��
��& ���	
	��
�� �
������& ��&��&� ��1,,	)	���� a1(L) �� ������� ������	 �� ,������
�"'"2� 	 ���������� � �����%������ 1�
���	������ ������	& a1(L) ��& �� ������� ��������	 L = 3 � 25 �

30 � 40 � 50 � 80 	 100 ������� ������

! ;# �4�)�4

�� ���%'� �� � ��+� .�� 3�� :� ��28���� �#)+���+ L > 2 ��?$$���� �
 ��3# an � 9���;
�#� 
  %�&�  #.� #� ! n = 2, � ������ 3��%'� �� � �� �( �( !��)� ����0# ������# ��
1�!�� �. �( ��28���� xc � !��3 �0� ) #.� �� xcL �� �. �( ��28���� �� 9����;� ���3��/
-�  �� #����#+� 4>5� ��)������ ���!�� ���!�%& +�3��" ����3� ��  �!��(�� 0��
* ����/
�� �!��( �� 9����;� .�� ��3����-3#��!� ?�!�� !�� 
+ ��+�"&��� 
+ +�3������# ��+�
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�� ��3��" ����3� ��  �!��(�� 0��
* ������ �!��( ��)������ ���!�� �� ���� �����.�!��(
��.�� xc 9����0 ������# ��; 3�� 1�!�� �. �( :� ��28���� �#� ��.��� 03� ) #.� ��
 �!��(�� 0��
* $% ���( �� 9����; �3� #���
 3�� �!�* �� �. 
* ��28����� =�� ��3����/
-3#�� 0�����)% ��3�1�� �#3# ��#Y���"!� #� �����#� ���+� ����" � � ����������  �(
!�!��+� 3#��  #+ !#+���3�1�� 1�!�� �. �0� 9!��3� �&'�0�; ��#!���#�

(�)(*! +),-./,0.1

2" 3�
��� 4�" &����� ����������" 5 &"' &�� 2678" 9:;<=> ?" @" @ABCDE AF B;EAGBCG" 5 H"I"�JA>BA>�
@CDKALG>C' M=<KG;BNC O>;PCGE;QR SGCEE 26T6"U

8" V���� /" +" W�	��� � �����
��� ����������" 5 &"' ����� 2678" 5 2TX �" 9Y�����
���� Z!���
["
\��" 26"U

]" ^�������
 Y" )" V���� /" +" V���
������ ���
�
�� ������������ ���������������" 5 &"' ����� 
26T6"

_" ,�������� `" `" ����������' 
����� ���������� ������
��" 5 &"' -��
����� 0.(( 8aa8" 5
228 �"

b" c������� (" ." ����� ���
������ ����
�
 ���������
 �����
�� � 	����� �	��� � ������ �����
��
Y��
� dd \��
��� 0����
����� ��������
�
�" &�
���
���" &�������" !���#$
����� �����" 5 8aa7"
5 \��" ]" 5 (" 2a6e22b"

X" +�����
�
� &" -" ^�� &" (" ^�������
 Y" )" V���� /" +" * ���	� ����� ���
�������� ������
���� 
����� ���
������ dd fV,W" 5 26Tb" 5 ," X6" 5 (" ]7X"

T" JAGC>g M" h" :;i j" @" O>;PCGE=D;QR AF QkC ClmCEE >L<KCG AF mD=EQCGE =>B QkC mGAEE;>N nGAK=K;D;QR FL>mQ;A>
;> QkGCC�B;<C>E;A>=D nCGmAD=Q;A> dd ?" SkRE" o' @=Qk" pC>" 5 2667" 5 qAD" ]2" 5 S" 72_Te72bT"

7" \��
���# -" (" *������ +" /" 3����� � ���������� �� 
����� �����
���
�
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8aaX" 5 M" 28]"

6" r=B=>Ai J" S" CQ =D" sQ=Q;m SkC>A<C>= HC=G MG;Q;m=D SA;>QE' tkCAGR =>B ulnCG;<C>Q dd jCP" @AB"
SkRE" 5 26XT" 5 qAD" ]6" 5 S" ]6be_]2"
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